TERMIGNONI s.p.a.

Via della Rampina n°1 Tel. 0039.0131.71666
15077 Predosa — Italy Fax 0039.0131.71696
www.termignoni.it info@termignoni.it

ASSEMBLY NOTE pag. 13

YAMAHA YZF-R 125 °08 KIT

MOUNTING THE TERMIGNONI
COLLECTOR AND SILENCER

*Mount the ring nut and bushing, be careful
to mount as shown in Fig. A;

*Using the 2 original bolts fix the ring nut
and bushing to the exit of the engine head
(Fig. B). The bolts must only be tightened
when the mounting the Termgnoni kit is
completed;

*Hock the short spring (in the pack) to the
ring nut previously mounted (Fig. C);

*Insert the Termignoni collector through the
opening below the fairing as in Fig. D;
*Use the spring to fix the collector to the
engine head (Fig. E);

*As shown in Fig. F, pass the collector
behind the fairing bracket and fix it using
the screw M8x20, the 8x24 washers and
then self locking nut M8 all in the pack;

*Insert the Termignoni silencer to the
collector (Fig. G);

*Use the original screw, nut and washer to
fix the silencer ring holder + rubber (Fig. H)
as in Fig. | without tightening;

*Fix the silencer and collector using the
short spring (in the pack) as in Fig. L;

ONLY TIGHTEN ALL
SCREWS AFTER THE KIT
HAS BEEN COMPLETELY

MOUNTED




TERMIGNONI s.p.a.

Via della Rampina n°1 Tel. 0039.0131.71666
15077 Predosa — Italy Fax 0039.0131.71696
www.termignoni.it info@termignoni.it

ASSEMBLY NOTE pag. 23

Y088 YAMAHA YZF-R 125 °08 KIT

MOUNTING THE TERMIGNONI
COLLECTOR AND SILENCER

*Tighten all screws starting from the
silencer ring hold (Fig. M) and finishing
with the 2 bolts the hold in place the
ring nut and bushing of the engine head
(Fig. N);

*Remount the bottom fairing taking care
to pass the small tube in the correct
position (Fig. O);

*Fix the fairing using the original screws
(Fig. P) and (Fig. Q).

ONLY TIGHTEN ALL
SCREWS AFTER THE KIT
HAS BEEN COMPLETELY

MOUNTED




TERMIGNONI s.p.a.

Via della Rampina n°1 Tel. 0039.0131.71666
15077 Predosa — Italy Fax 0039.0131.71696
www.termignoni.it info@termignoni.it

PACK'NG LlST pag 3/3

Y088 YAMAHA YZF-R 125 °08 KIT

1) 1 SILENCER Y088

2) 1 COLLETOR Y088

3) 2 SHORT SPRINGS WITH RUBBER TER009

4) 1 HEAD BUSHING TY122

5) 1 NUTRING TY121

6) 1 SILENCER RING HOLDER TY098 WITH RUBBER
7) 1 SCREW M8x20

8) 1 SELF BLOCKING NUT M8

9) 2 WASHERS 8x24




